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In chapter 17 of Smart Thinking we tackled the problem of how we can make a decision about which solution to a problem might be the best, when this often involves comparing things that are not of the same kind, between which there is not a common criterion, a common standard of judgement. In these circumstances we tend to rely on our intuitions and first impressions. But this is far from reliable.

We found that the most effective way of tackling this problem was to create an algorithm and on pages 269-74 we learned a five stage method of doing that. In fact algorithms have proved to be astonishingly effective compared not just with our intuitions and first impressions, but with the judgements of professionals whose training and experience have prepared them to make these sorts of decisions. Over the past 50 years there have been roughly 200 studies comparing the accuracy of the predictions of clinicians and other professionals with algorithms and in every case the accuracy of the professionals’ predictions have been matched or exceeded by a simple algorithm.         

In the following exercises take one of the problems listed below, that we have worked on in previous chapters, and create your own algorithm of no more than six characteristics. Then weight those characteristics that you consider to be more important than others, score each one and then work out the totals for each one to reach your decision. As you score each characteristic, use Grid Analysis. To do this follow the steps I described on pages 274-7 of Smart Thinking.    

Exercises:

Exercise 1:

Take one of the following examples, which you have worked on in previous chapters, create an algorithm and use it to come to your decision as to which will be the best solution.

1. Parents on the touchline
2. Bribery – The Bernard Fleming Case
3. Assistant manager of a chain store
4. Shoplifting
5. The elderly
6. Alcohol consumption
7. Toy makers
8. The plight of young people
9. Testing employees for drugs
10. Adult illiteracy
11. Insurance fraud

Exercise 2:

Read the following passage. Analyse the dilemma Jim faces, revealing the ethical implications of the alternatives open to him. Then create your algorithm and use it to come to your decision as to which will be the best solution.
 
Jim finds himself in the central square of a small South American town. Tied up against the wall are a row of twenty Indians, most terrified, a few defiant, in front of them several armed men in uniform. A heavy man in a sweat-stained khaki shirt turns out to be the captain in charge and, after a good deal of questioning of Jim which establishes that he got there by accident while on a botanical expedition, explains that the Indians are a random group of the inhabitants who, after recent acts of protest against the government, are just about to be killed to remind other possible protestors of the advantages of not protesting. 

However, since Jim is an honoured visitor from another land, the captain is happy to offer him a guest’s privilege of killing one of the Indians himself. If Jim accepts, then as a special mark of the occasion, the other Indians will be let off. Of course, if Jim refuses, then there is no special occasion, and Pedro here will do what he was about to do when Jim arrived, and kill them all. 

Jim, with some desperate recollection of schoolboy fiction, wonders whether if he got hold of a gun, he could hold the captain, Pedro, and the rest of the soldiers to threat, but it is quite clear from the set-up that nothing of that kind is going to work: any attempt at that sort of thing will mean that all the Indians will be killed, and himself. The men against the wall, and the other villagers, understand the situation, and are obviously begging him to accept. What should he do?[endnoteRef:1]1 [1: 1 Bernard Williams, ‘A critique of utilitarianism’ in J.J.C. Smart & Bernard Williams,  Utilitarianism for  
and against, (Cambridge: Cambridge University Press, 1973), pp. 98/9.] 


Exercise 3:

Case study: Wave power[endnoteRef:2]2 [2: 2 ‘Resolute Marine Energy: Power in Waves’, Learning Edge Case Study topics at MIT Sloan Management website: https://mitsloan.mit.edu/LearningEdge/Pages/Case-Studies.aspx] 


On pages 273-4 of Smart Thinking we explored the core details of this case study. As I explained, there are three directions in which the management could take Resolute Marine Energy. What would you advise them to do? Create an algorithm and use it to come to your decision as to which will be the best solution.

Please insert the case study from the PDF or the link to the PDF in the list of references below.

Exercise 4:

Case study: Starbucks 
              
As we saw previously on this site, Starbucks faces a critical decision. It began by catering to those who wanted a club-like atmosphere as they relaxed over a quality cup of coffee. But increasingly the company began to serve the ‘grab and go’ customer, who wasn’t interested in the relaxed atmosphere and a leisurely cup of coffee. So which way should the company go?

If it develops one way, it is likely to lose its original type of customer on which its brand was based and find itself competing with larger outlets that don’t share the same interest in quality. To develop the other way would mean growing at a slower pace. Create your algorithm and use it to come to your decision as to which direction the company should choose. 

HOW STARBUCKS’ GROWTH DESTROYED BRAND VALUE
How Starbucks’ Growth Destroyed Brand Value
John Quelch

Starbucks announcement that it will close 600 stores in the US is a long-overdue admission that there are limits to growth.

In February 2007, a leaked internal memo written by founder Howard Schultz showed that he recognized the problem that his own growth strategy had created: “Stores no longer have the soul of the past and reflect a chain of stores vs. the warm feeling of a neighborhood store.” Starbucks tried to add value through innovation, offering wi-fi service, creating and selling its own music. More recently, Starbucks attempted to put the focus back on coffee, revitalizing the quality of its standard beverages. But none of these moves addressed the fundamental problem: Starbucks is a mass brand attempting to command a premium price for an experience that is no longer special. Either you have to cut price (and that implies a commensurate cut in the cost structure) or you have to cut distribution to restore the exclusivity of the brand. Expect the 600 store closings to be the first of a series of downsizing announcements. Sometimes, in the world of marketing, less is more.

Schultz sought, admirably, to bring good coffee and the Italian coffee house experience to the American mass market. Wall Street bought into the vision of Starbucks as the “third place” after home and work. New store openings and new product launches fueled the stock price. But sooner or later chasing quarterly earnings growth targets undermined the Starbucks brand in three ways.

First, the early adopters who valued the club-like atmosphere of relaxing over a quality cup of coffee found themselves in a minority. To grow, Starbucks increasingly appealed to grab and go customers for whom service meant speed of order delivery rather than recognition by and conversation with a barista. Starbucks introduced new store formats like Express to try to cater to this second segment without undermining the first. But many Starbucks veterans have now switched to Peets, Caribou and other more exclusive brands.

Second, Starbucks introduced many new products to broaden its appeal. These new products undercut the integrity of the Starbucks brand for coffee purists. They also challenged the baristas who had to wrestle with an ever-more-complicated menu of drinks. With over half of customers customizing their drinks, baristas hired for their social skills and passion for coffee, no longer had time to dialogue with customers. The brand experience declined as waiting times increased. Moreover, the price premium for a Starbucks coffee seemed less justifiable for grab and go customers as McDonald’s and Dunkin Donuts improved their coffee offerings at much lower prices.

Third, opening new stores and launching a blizzard of new products create only superficial growth. Such strategies take top management’s eye off of improving same store sales year-on-year. This is the heavy lifting of retailing, where a local store manager has to earn brand loyalty and increase purchase frequency in his neighborhood one customer at a time. That store manager’s efforts are undercut when additional stores are opened nearby. Eventually, the point of saturation is reached and cannibalization of existing store sales undermines not just brand health but also manager morale.

None of this need have happened if Starbucks had stayed private and grown at a more controlled pace. To continue to be a premium-priced brand while trading as a public company is very challenging. Tiffany faces a similar problem. That’s why many luxury brands like Prada remain family businesses or are controlled by private investors. They can stay small, exclusive and premium-priced by limiting their distribution to selected stores in the major international cities.[endnoteRef:3]3 [3: 3 John Quelch, ‘How Starbucks’ Growth Destroyed Brand Value’, Harvard Business Review, July 02, 2008. ] 


Exercise 5:

Case study: PPS.tv and China’s Online Video Distribution Market[endnoteRef:4]4 [4: 4 Kevin Anthony, Richard Erdong Chen, Aaron Rackoff, Wai Yan Wong, ‘PPS.tv and China’s Online Video Distribution Market’, Learning Edge Case Study topics at MIT Sloan Management website: https://mitsloan.mit.edu/LearningEdge/Pages/Case-Studies.aspx] 


On page 1 of this case study you will see that there are three options open to the project team of the online video provider, PPS.tv (PPS), as they decide how to manage the next stage of the venture’s development. Create an algorithm and use it to come to your decision as to which option to choose. What factors are important to consider and which of them is more important: to be part of a small, but growing market; to have access to more money to invest; to concentrate on strengths, like their technical expertise; or to be part of a larger market with more risk, but potential for growth? 

Please insert the case study from the PDF or the link to the PDF in the list of references below.

Exercise 6: Digital Divide Data[endnoteRef:5]5 [5: 5 Anju Mathew, Grete Rød, Jaime Villalobos, David Yates, ‘Digital Divide Data’, Learning Edge Case Study topics at MIT Sloan Management website: https://mitsloan.mit.edu/LearningEdge/Pages/Case-Studies.aspx
 


] 


On pages 7-9 of this case study you will see that there are four potential strategies for growth that the leadership of DDD had to consider as the company sought to build on the success of its first seven years. As with the previous case studies, create an algorithm and use it to come to your decision as to which option to choose. What factors are important to consider and which of them is the more important: to continue to operate in the same way with little change; to find new sources of capital; to find new partners who can bring new experience and expertise; to expand into new markets; or to expand further into local markets? 

Please insert the case study from the PDF or the link to the PDF in the list of references below.

Paired comparisons

There are those occasions when we are not sure of our priorities and how important each one is to us. So we need a method of revealing their relative importance. Paired comparison analysis gives us a very effective way of doing this. To complete the following exercises first read pages 277-80 of Smart Thinking and then follow the steps explained there.

Exercise 7:

You are thinking about the type of holiday you most want for next year, but you like all of the alternatives you have come up with. Do a paired comparison analysis of the following options: a Mediterranean cruise; a skiing holiday in Switzerland; a cycling tour in Southern France; a touring holiday in China; a motor home holiday on the east coast of Australia. 

Exercise 8:

Your car has been showing its age lately with frequent breakdowns. Therefore, you realise you must replace it, but you also realise that your lifestyle has changed over the last few years, so you need a different type of car than the one you’re replacing. The problem is that no one car will be able to meet your needs, therefore you need to find out where your priorities lie, so you can decide which car will best meet these. Ideally you want a car that you could use to carry the board and sails you need for windsurfing; that you will be able to use for business; that you can take the roof off in those hot summer months; that you can pile your two big dogs in when you take them out. You realise these preferences are incompatible, so which one is your top priority?

Exercise 9:

The company you work for is moving to another part of the country and you will be moving with it. However, you have some months to find a new home, but what do you want most in a new home? You like large rooms and you want to have a good kitchen – you don’t want to spend time and money putting one in. You would also like to have a house in a quiet location, but at the same time you know that you want to be near work in the city so you don’t have to spend a lot of time commuting. You realise that it is probably going to be difficult to find all these things in one house, so out of these four things, which is your priority?  

Exercise 10:

You have been very busy at work recently and you know that you’re in need of a short break, so you decide to go away for the weekend, but where do you go? You have always fancied a weekend in Paris, but then you have always wanted to go to Florence. Alternatively, you could go to Amsterdam, Prague or even Barcelona. So where do your preferences lie? Which one would you choose? 




